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Response Time (R)
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of Concurrent Users
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Application Under Test

2.Thousands of virtual
users perform real-life

transactions on a ﬁ
system to emulate f/}’ ﬁ ﬁ

production traffic. i L7

g 3. Real-time monitors capture
gg performance data across all tiers,
(\ servers and network resources

and display information on the

Controller.
i) 4. Results are stored 1n a
f database repository,
1. The Controller is a central I allowing users to
. generate reports and
consale from which the load test .
. . perform analysis.
is managed and monitored.
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= i] MK (Reliability Testing)
"Eill X (Scalability Testing)

"Ll (Recoverability Testing)
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